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Problem 6.23

Fait | Fmean| Mait | Mmean

2.85E-08] 2.00E-02} 0.5] 375 125 90 30] 6.32E+07] 2.11E+07| 4. 42E+08
1.70E-08] 1.00E-02] 0.5] 638] 212.5] 109 36] 6.43E+07] 2.14E+07] 4.50E+08
4.70E-09] 1.25E-02] 0.5] 338] 1125 23 8] 5.98E+07] 1.99E+07] 4.19E+08
4.90E-09] 1.10E-02] 0.5] 188] 625 28 9] 6.31E+07| 2.10E+07] 4.42E+08
1.80E-08] 9.00E-03] 0.5{ 563} 187.5] 116 39| 5.79E+07] 1.93E+07{ 4.05E+08

1.17E-08] 1.00E-02§ 0.5] 713] 237.5 57 19] 4.87E+07] 1.62E+07]| 3.41E+08]
3.20E-09] 7.50E-03f 05] 188] 625 16 5] 3.66E+07]| 1.22E+07| 2.56E+08
h 4.00E-09] 5.00E-03] 04| 375 125 17 6] 213E+07] 7.11E+06] 1.81E+08
| 2.75E-09} 5.00E-03{ 0.4] 150 50 11 4] 2.05E+07] 6.82E+06] 1.74E+08
j 6.50E-10] 5.50E-03] 0.4 60 20 2 1] 1.90E+07| 6.35E+06{ 1.62E+08
k ) ) 4.30E-08] 1.45E-02f 0.4 660] 220 50 17] 1.67E+07] 5.56E+06] 1.42E+08
| 0.90] 0.80] 600} 4.20E-08] 7.50E-03] 0.4} 450 150] 40 13] 7.14E+06| 2.38E+06] 6.07E+07
m 0.70] 0.60] 500| 2.10E-08] 6.50E-03] 0.4f 375 1251 32 11} 9.95E+06] 3.32E+06| 8.46E+07
n 0.85] 0.70] 120{ 7.90E-09] 1.00E-02} 0.4 90 30 11 4] 1.41E+07] 4.69E+06| 1.20E+08




